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 BECC-131  

B.A. (GENERAL) 

(BAG) 

Term-End Examination 

June, 2022 

 

BECC-131 : PRINCIPLES OF MICRO ECONOMICS-I 

Time : 3 hours Maximum Marks : 100 

Note : Attempt questions from each section as per 

instructions given.  

 SECTION A 

Answer any two questions from this section. 220=40 

1. (a) What do you mean by consumer 

equilibrium ? How does a consumer attain 

the equilibrium in the multi-commodity 

case ? Give illustration.   12 

(b) How can you derive the demand curve with 

the help of law of diminishing marginal 

utility ? 8 

2 (a) What is Production Possibility Curve ? 

Illustrate along with the underlying 

assumptions. 10 

(b) Why does PPC slope downwards ? On 

which part of production possibility curve 

does production take place when resources 

are efficiently employed ? 10 
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3. Given the equation : 

Q = m – nP ... (A) 

where Q stands for quantity of a commodity, P 

stands for its price and m and n represent any 

constant numbers. 

(a) Is the given equation, a demand or supply 

equation  ? Give reasons for your answer. 

Also draw the curve representing such an 

equation. 6 

(b) Now consider another equation : 

 Q = r + sP ... (B) 

 Here again Q stands for quantity of a 

commodity and P for price of the 

commodity, r and s represent any constant 

numbers. Considering equation (A) and (B), 

determine the equilibrium price (P*) and 

quantity   (Q*) of the commodity. 8 

(c) Let m = 500, n = 1, r = 200, s = 2. What will 

be the values of equilibrium price (P*) and 

quantity (Q*) ? 6 

4. (a) Using an appropriate diagram, explain the 

law of variable proportions. 10 

(b) What are the reasons behind varying 

returns viz increasing constant and 

decreasing returns to a factor in  

production ? 10 
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 SECTION B 

Answer any four questions from this section. 412=48 

5. Distinguish between Price elasticity of demand 

and Income elasticity of demand. Explain the 

various methods that are used to measure price 

elasticity of demand.  4+8=12 

6. Explain the law of diminishing marginal utility. 

In what case(s) may this law not apply ? 8+4=12 

7. What is Isoquant ? Discuss the properties of 

isoquants. 4+8=12 

8. What is meant by External economies ? Contrast 

it with external diseconomies. 6+6=12 

9. What is meant by long-run average cost curve of 

production ? Is the long-run average cost curve 

always U-shaped ? Give reasons. 2+10=12 

10. What do you mean by rationing system ? How 

does a price ceiling set below the equilibrium 

price level affect the quantity demanded and 

quantity supplied of a product ? 6+6=12 
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 SECTION C 

11. Write short notes on any three of the  

following : 34=12 

(a) Arbitrage 

(b) Central Problems of an Economy 

(c) Normative Economics 

(d) Sunk Cost 

(e) Merit Goods 
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~r.B©.gr.gr.-131 : ì`{îQ> AW©emñÌ Ho$ {gÕm§V-I 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> :  {XE JE {ZX}emZwgma àË`oH$ ^mJ _| go àíZm| Ho$ CÎma Xr{OE & 

^mJ H$ 

Bg ^mJ _| go {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE & 220=40 

1. (H$) Cn^moº$m g§VwbZ go AmnH$m Š`m A{^àm` h¡ ? EH$ 
~hþ-dñVw n[aÑí` _| Cn^moº$m {H$g àH$ma g§VwbZ 
àmßV H$aVm h¡ ? CXmhaU Xr{OE & 12 

(I) õmg_mZ gr_m§V Cn`mo{JVm {Z`_ H$s ghm`Vm go _m±J 
dH«$ H$s ì`wËn{Îm Amn {H$g àH$ma H$a|Jo ? 8 

2. (H$) CËnmXZ g§^mdZm dH«$ Š`m h¡ ? _mÝ`VmAm| g{hV 
ñnîQ> ê$n go g_PmBE & 10 

(I) PPC H$m T>mb ZrMo H$s Amoa Š`m| hmoVm h¡ ? g§gmYZm| 
Ho$ Xj à`moJ H$s Xem _| CËnmXZ g§^mdZm dH«$ Ho$ 
{H$g ^mJ na CËnmXZ hmoJm ? 10 
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3. {X`m J`m g_rH$aU :  

Q = m – nP ... (A) 

Ohm± Q dñVw H$s _mÌm Am¡a P CgH$s H$s_V h¡, m Am¡a n Xmo 

pñWam§H$ h¢ & 

(H$) Š`m {X`m J`m g_rH$aU EH$ _m±J g_rH$aU h¡ `m 

Amny{V© g_rH$aU ? AnZo CÎma Ho$ {bE H$maU  

~VmBE & gmW hr Eogo g_rH$aU Ûmam Xem©E OmZo dmbo 

dH«$ H$m aoIm§H$Z ^r H$s{OE & 6 

(I) A~ EH$ AÝ` g_rH$aU na {dMma H$s{OE : 

 Q = r + sP ... (B) 

`hm± ^r Q VWm P dñVw H$s _mÌm Am¡a H$s_V h¢ VWm 

r Ed§ s Xmo pñWam§H$ h¢ & A~ BZ g_rH$aUm| (A) Am¡a 

(B) H$m à`moJ H$a dñVw H$s g§VwbZ H$s_V (P*) VWm 

_mÌm (Q*) H$m {ZYm©aU H$s{OE & 8 

(J) _mZ br{OE m = 500, n = 1, r = 200, s = 2. 

g§VwbZ H$s_V  (P*)  VWm _mÌm (Q*) H$m _mZ Š`m 

hmoJm ? 6 

4. (H$) EH$ Cn`wº$ {MÌ H$m n«`moJ H$aHo$, n[adVu AZwnmVm| 

H$m {Z`_ g_PmBE & 10 

(I) CËnmXZ _| {H$gr H$maH$ Ho$ à{V n[adVu à{V\$bm| 

AWm©V² dY©_mZ pñWa Ed§ õmg_mZ à{V\$bm| Ho$ H$maU 

Š`m hmoVo h¢ ? 10 
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^mJ I  

Bg ^mJ> _| go {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE & 412=48 

5. _m±J H$s H$s_V bmoM Am¡a _m±J H$s Am` bmoM _| A§Va 

ñnîQ> H$s{OE & _m±J H$s H$s_V bmoM Ho$ _mnZ _| à`wº$ 

{d{^Þ {d{Y`m± g_PmBE & 4+8=12 

6. õmg_mZ gr_mÝV Cn`mo{JVm H$m {Z`_ g_PmBE & {H$Z 

n[apñW{V`m| _| `h {Z`_ bmJy Zht hmo gH$Vm ? 8+4=12 

7. g_moËnmX dH«$ Š`m h¡ ? g_moËnmX dH«$m| H$s {deofVmAm| na 

MMm© H$s{OE & 4+8=12 

8. ~mø {_Vì`{`VmE± Š`m hmoVr h¢ ? BZH$s ~mø 

An{_Vì`{`VmAm| go VwbZm H$s{OE & 6+6=12 

9. CËnmXZ Ho$ XrK©H$m{bH$ Am¡gV bmJV dH«$ go Š`m A{^àm` 

h¡ ? Š`m XrK©H$m{bH$ Am¡gV bmJV dH«$ gX¡d U-AmH$ma 

H$m hmoVm h¡ ? H$maU ~VmBE & 2+10=12 

10. ameqZJ ì`dñWm go AmnH$m Š`m A{^àm` h¡ ? g§VwbZ 

H$s_V ñVa go ZrMo A{YH$V_ H$s_V {ZYm©[aV H$aZo na 

{H$gr dñVw H$s _m±J Am¡a Amny{V© H$s _mÌmAm| na Š`m 

à^md hmoVo h¢ ? 6+6=12 
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^mJ J  

11. {ZåZ{b{IV _| go {H$Ýht VrZ  na g§{jßV {Q>ßn{U`m± 

{b{IE :  34=12 

(H$) AÝVanUZ (Arbitrage)  

(I) EH$ AW©ì`dñWm H$s Ho$ÝÐr` g_ñ`mE± 

(J) AmXe©_ybH$ AW©emñÌ (Normative Economics) 

(K) Sy>~V bmJV-Aà{V^ỳ  bmJV (Sunk Cost) 

(L>) {deof JwU nXmW© (Merit Goods) 


